A3 URIREUr BN




BIE BERREHHER | 71

PR OB 18 1 — A A Iz 301 18] P £ B0 i 4 2 B S s OB R I . B2k
YR BE D AR G088 K n] LR A f0 A B OB BB S AT R . d ol L B 2k
YB3 A A TR VA AR 70 A1 L I3 A | 87 Iy A AT LART 23 A 33k 28 7 A1 B HE R
TR — AR R 2 28 4 2 X0 BT RLAR O (an b, 00 23 A 26

Xt TR LELREG A5 R Cas b5 00 53413 28 T HE IG5 1 A i 38 & 1T ) 308 2 URBOHE % e
FRE R L JREIRE o T RAXS Cas b, 0) 20 A1 A5 2 a5 ) A AR R AT 30 8 o DA T 45 31 2 A U 2 A
Bl TR R O A 3 L A ARSI — A TR S 3 4 2 20 B LLSERR
Casb D3 Ai2E . X R BT P B A o5 — P O7 SRS Cas b, 0) 0 A1 26 5 7 A
(IR AL S A HEAT IR 5 » DT RS 80P 98 1) 2 M2 2 A o 2 I i A1 1 2 i 1) R
JERTF (asb,0) 73 A AL T JLHER

URSRAB G U RCEAT AR B B A7 B2 5 G A1 26 180 g TG 36 AR B 3t #0045 %K
oo T 2 m A R R B G YOBORE  nT LU B 0 A AT 2 G sR A AT
A BT Y 23 A1 A S A AR 2 A AR A TR RS 23 A

FEI 72 5 ST AR B A5 [ G 005 400 4% 3 0 O P o 3 ok o 2R AR I 45 ) R
T ARG U 2R I UBORE AN [ T 458 2 OB, BIVXE /8 1 A I RS 45 2K L DRI 24 ) 2
AT . FEXFE BT - 575 20 15 YR A 110 Y 2 Bk A T 3 24 8 L T
5 2 R IG5 A AR

AT e B R FEA BB B AR B Ca s b, 0) 23 A 26 AR 5 DB X &
S BRI T PR BRI Ca s b0 1) 3 A JE RN K A o F5- 41 4 00 2 MR SR 47 9 3 114
S AR 23 A R 5 VAR 20 A1 B S 1 38 4 5 000 45 2 RO 8L 1 52 i

3.1 (a., b, ONEE
(asb,0) 7 A FAHEIANN 43 A0 - 0053 A B0 35 43 A A1 L AR] 43 A, e JLAAT 43
A1 2 B 30 4 A B R
3.1.1 B9
TARA 0 A B A 2R pR 5 R
P

et
TRl
K, pr FoREA b VR PIHER A FRIAM A0 S8,

THFA I AT B BE R P () 2y

s k=0,1,2,- 3. D

P(z) = E(zY) = D> puet = &0 (3.2)

k=0
YA AR FEEE R M ()l
M(t) = E(e™) = ¢V (3.3)



72 | R4, 2T RMNREMRATN

TERS 534 B 3448 7 22 FII B2 5337 A
E(N) =2
Var(N) = A
k=2A"
THFA G A1 9 28 A B TR 43 A1 14 i J3E B /0N B 42 30T X R 40 A TE 25 43 A
T ARL A 25 R B AT A 3-1 s Ho b e SRR IR AR A0 A R R . 2 Z Y R
FFAASIT
x = 0:20

par(mfrow = c(2, 2))
for (lam in c(1, 2, 5, 10)) {

barplot (dpois(x, lam), names. arg = x, main = paste("lambda = ", lam, sep
= ”"))
}
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dpois(3, lambda = 2)
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ppois(4, lambda = 2)
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set. seed(111)

sim = rpois(20, 2)
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x = 0:15
par(mfrow = c(2, 2))
for (n in c(1, 5, 10, 20)) {

barplot(dbinom(x, size = n, prob = 0.3), names.arg = x, xlab = "", ylab =
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}
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pbinom(5, 10, 0.2)
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set. seed(111)

sim = rbinom(20, 10, 0.2)
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x = 0:20

par(mfrow = c(2, 2))

for (r inc(1, 2, 3, 4)) {

barplot(dnbinom(x, r, 0.3), names.arg = x, xlab = "", ylab = "", main = paste

("r=",r,", p=0.3" sep=""))

}
r=1, p=0.3 =2, p=0.3

i S

S o

ha] Nel

i1l - H I

= [IMomee S DDDDDEID.::. _____

S 02 4 6 81012 14 16 18 20 S 02 46 8101214 16 18 20
=3, p=0.3 r=4,p=0.3

[©} (oo}

g g

(=) o

‘:i S |:||:|

(=) o

g HDDDDDDDDDE: = I:ID|:| DDDDEIE]D

e 4 8 10 12 14 16 18 20 S 02 6 8 10 12 14 16 18 20

B 3-3  ZH p h ST W4 A ) R 3R R B



78 | Mgz, BT R MREMRATN

TEGES R r AT S8 p B HUE MR L 0 5050 A 14 2 3 an el 3-4
SN R S A AR R (1 R

& B I A B R PR R S8 p 12 Al

0:30

par(mfrow = c(2, 2))

for (p inc(2, 3, 4, 5)/10) {
barplot(dnbinom(x, 3, p), names.arg = x, ylim = c(0, 0.2), xlab = "", ylab =

"", main = paste("r = 3, p =", p, sep = ""))

}
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dnbinom(3, 5, 0.6)
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1 - pnbinom(3, 5, 0.6)
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pnbinom(5, 5, 0.6)
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sim = rnbinom(20, 5, 0.6)
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x = 0:20
par(mfrow = c(2, 2))
for (p inc(1, 2, 3, 4)/10) {
barplot(dgeom(x, p), names.arg = x, xlab = "", ylab = "", main = paste("p = "
p, sep = ""))
}



